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B$X3—2 BEMICHERTILEEINLER CETSEE WAEE 2T
E i ) 1 Bl EREs J134208 [ ERA \ A AEDR | FRTEMh AL
BETARES TERDOESh(m) TEROFEAFDN/m?) | BEVOM AP2N/m2) | 1E¥rARES TERODESHM) | TEROFRAESIFDKN/mD) | BEYOT FIP2(N/m2)
No.0O 0.55 11.89 12.68 No. 27 0.54 413 12.84
No. 1 0.48 810 14.30 No. 28 0.57 3.43 12.19
No.2 0.47 6.84 14.44 No. 29 0.59 3.02 11.81
No.3 0.47 5.32 14.38 No. 30 0.61 2.76 11.53
No.4 0.47 5.36 14.43 No. 31 0.60 282 11.65
No.5 0.48 4.82 14.27 No. 32 0.61 275 11.53
No.6 0.49 4.28 14.08 No. 33 0.50 4.01 13.62
No.7 0.49 427 14.08 No. 34 0.46 4.86 14.87
No.8 0.48 4.29 14.11 No. 35 0.47 4.69 14.62
No.9 0.48 4.42 14.29
No.10 0.49 4.08 13.98
No.11 0.49 3.91 13.89
No.12 0.50 3.68 13.75
No.13 0.50 3.49 13.61
No. 14 0.50 347 13.60
No.15 0.50 3.55 13.74
No.16 0.64 5.21 11.11
No.17 0.52 4.35 13.13
No.18 0.51 4.61 13.49
No.19 0.49 5.02 14.02
No.20 0.48 511 14.13
No.21 0.47 5.31 14.38
No.22 0.47 5.40 14.48
No.23 0.49 5.08 14.09
No.24 0.49 5.01 14.00
No.25 0.48 5.22 14.26
No.26 0.52 4.50 13.34




